Gdm:
dg = Sdmeos(@) dm=1 a=0—.Z B:=0,—~ .
1r2 500 2 100
2 _ Gdmrcos(o) bijdrage in x richting per deeltje dm op afstand r moet dg=
= dg constant blijven
Gdm _ cos ()
dg - 2
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r(o,dg) := !G(.iin-\/cos(oc) x(a,dg) = !Gc.lin-\/cos(a)-cos((x)
g g

y(a,dg) = /%-\/cos(a)-sin(a)
g

xI(B,r) == r-(1 + cos(B)) cirkel met straal r

y1(B,r) = r-sin(P)
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A),(v((x,kl) == k1 cos(a)-cos()

/x((x,kl) = k1 cos(o)-sin()

x(0,1) =1 y(0,1) =0

1
Volume := J 7T~y2 dx
0

X = k1 cos(a)-cos(o)

d
do
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—X = kl{—sin(a)-\/ cos(a) + cos((x)%-cos(a) 2 ~—sin(o¢)}

kl-{—sin(a)-\/cos(a) + cos(oc)~%~cos(o¢) 2 -—sin((x)}
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Volume(kl) = 0.524
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7T~(k12- COS(OL)-Sin(OL)) -[—sin(a)(\/cos(a) + l
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k1 := 0.8892
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